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Problem solving - addition and

subtraction @

10 o £50 has 1,020 football stckers. Richard hos 820 football stickers.
How many more stickers does Ebo have?

ThHTO
Richard 820 je—— —_—

Ebo. 1,020

Ebo hos| | more sickers.

b) Reena collects 1,500 stickers. How many fewer stickers does Ebo
have than Reena?

ThHTO
Reena 1.500 —_—

Ebo.

Ebo has fewer stickers than Reeno.

) Luis hos 250 more stickers than Reena. Show this on a bar model
‘and find how many stickers Luis has in total.

ickers in total.
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€) Mo collects 425 shells and Lee collects 576 shelis. Q
How many more shells does Lee collect?

Explain which bar model suits this problem.

? 8 425 Je—s
=1 =

Ithink A/ B suits this problem best because
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I would draw a comparison bar model when

I would draw a single bar model when





